ir8r8p Series: [ 5. 9. 20. 12. 15.], erreur Mk 0 = 243.480259305{6%p Series: [ 5. 9. 20. 12. 18.], erreur Mk 1 = 324.285318843
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Temp Series : [ 5. 9. 20. 12. 13.], erreur Mk 2 = 325.978510073_Temp Series : [ 5. 9. 20. 12. 6.], erreur Mk 3 = 361.515282453
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Temp Series : [ 5. 9. 20. 12. 1.], erreur Mk 4 = 368.904267181_Temp Series : [ 5. 9. 20. 12. 3.], erreur Mk 5 = 432.732601604
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Temp Series : [ 5. 9. 20. 12. 19.], erreur Mk 6 = 433.216261486 Temp Series : [ 5. 9. 20. 12. 17.], erreur Mk 7 = 433.288529254
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